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Lesson #1: Solve and Draw — The Vocabulary of Addition

1. An addend is one of the
numbers being added in an
addition problem. Which
number is an addend?

48 + 112 =160

2. The sum is the answer, the
total of the addends, in an
addition problem. Which
number is the sum ?

513 + 89 =602

3. The inverse operation of
addition is its opposite
operation. What operation is the
inverse operation of addition?
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4. A column is a vertical list of
numbers. Column addition
shows addends in such a list.
Which problem shows column
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5. Double, in addition, is a
number added to itself.
Which number below is a
double of 75?
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6. Twice means the same as
double. Which number below is

twice 1,142 2
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7. Repeated addition is adding
the exact same number to itself,
two or more times. Which
problem shows repeated

8. The identity property of
zero means when zero is added
to a number, the sum is that
same number. Which shows this

9. The commutative property
of addition means that the sum
stays the same when the order of
addends changes. Which pair

addition? property? shows this property?

30 +31+32=93 514+0=514  —=— f 67+ 39- 106
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10. Which number is anf§ 11. Which number is 12. Which problem
addend? 30 the sum? shows the inverse
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13. Which shows 14. Which number has 15. Which shows

column addition?

been doubled to make a
sum of 1287

repeated addition?
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16. Which shows the 17. Which shows the 18. What 1s the math
identity property of commutative property fterm for 119 in this
zero? of addition? problem?
119 + 352 =471
12+ 68 =90
0+3+3+3=3 68 + 90 = 158 inverse
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_ 47 + 212 =259
0+9=9 212 + 47 = 259 addend
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